Series VZ200
Manifold Specifications

Manifold Variations: VV32Z2

Model N
Manifold type Single base, B mount V100
Passage Common SUP/EXH type p—
Valve stations Max. 20 stations SY
VV322-50-061-C] -
Manifold base model | VV3Z2-20 | VV3Z2-30 VV3Z2-50 VV3Z2-S50 —
Individual exhaust | Common exhaust Common exhaust Common exhaust SYJ
Built-in One-touch fittings | Built-in One-touch fittings
Pilot valve exhaust VK
Piping direction/ . T . Side/Base
2(A) port T Top/Valve Side/Base (Opposite side of solenoid) (Same side of solenoid) VT
Port size M5 x 0.8 M5 x 0.8, Rc 1/8 [ C4,C6 C4, C6
P, E port | Port size Rc 1/8 Rc 1/8 VP
Applicable VZ212-000-M5 VZ215-000 ——
V;’Ee e el VZ222-000-M5 VZ225-000 VG
Body ported Base mounted (Without sub-plate) —
Blanking plate WZ200-32A1 | W2200-31A1 | VVZ200-31A-2 | VVZ200-32A-2 VP
Screws and Gasket Assembly Part No. S070
Model Part no. —
VV372-20 BG-VZ202 vaQ
5 VV3Z2-30 BG-VZ203 —
VV322-50-061-C6 VV3ZQ'2% o BG-VZ205 VKF
How to Order Manifold Base i
I | . _
Series VZ200 2(A) port size on base side ———
Manifold Wodel VV372-50 VFN
_L———¢Symbol Symbol VV3Z2-S50 * —
Stations _ L Passage speciiontons . i Without 2(A) port
- Applicable base Nil
0 2stations  symbol 1(P) 3(R) 2(A) (Body ported type 20, 30)
A N . M5 M5 x 0.8
20 | 20 stations 1 Common|Common | Top, Side | Type 20, 30 and 50 o1 Rc 1/8
. . . . ca Built-in One-touch fittings
Manifold specifications/Single base type Applicable tubing O.D. g4
B mount (P/E port size) e Built-in One-touch fittings
- Applicable tubing O.D. 26
- P, E port | Applicable valve
Symbol e Port size model + VV/3Z2-850: Only C4 and C6
Body ported Instruct by specifying the valves, blanking plate option to be mounted on the
e (Individual pilot exhaust) Rc 1/8 VZz2t2 manifold along with the manifold base model no. And for the order of valves
Body ported installation or option’s position, instruct separately by the manifold
30 (Common pilot exhaust) Rc 1/8 vVzar2 specification sheet.
Base mounted (Example)
h <Top ported, individual pilot exhaust> <Side ported, common pilot exhaust>
01, por direégg’nmom&'gspi{g"siz)e‘h;‘;z%noid vave| FC 18 vzaris VV322-20-081 (8 stations) VV3Z2-50081-C6 (8 stations)
: VZ212-1G-M5..-.-. 5 pcs VZ215-5M:-...... 5 pcs
Base mounted VZ212-1G-M5.----- 2 pcs. VZ215-5M-:+--.-- 3 pcs.
S50* (Common pilot exhaust) Rc 1/8 VZ205 VVZ200-32A-1----- 1 pc. (Blanking plate)
A port direction: Same side of solenoid valve <Side ported, common pilot exhaust>

Q * Type S50 is available only with built-in One-touch fittings.

O

VV3Z2-50-081-01
VZ215-1G

(8 stations)
5 pcs.

- 2 pCs.

1 pc. (Blanking plate)

4-15-7



Series VZ200

Dimensions: Individual Exhaust/Common Exhaust

Individual exhaust: VV3Z22-20

<]
(G) s (L) (W) gl (D)
17} o Q|
<4 2 =Y
= o a|_
2 § % Pilot EXH
<X 4-Reld @ =
= 4-Rc % 8 @ 5
2043 P=16 ;s; n-M5X 0.8 = S g’ S
mountin - g, > 2
Polef 1 e st o 3 g 2
(N VNI 2N N 2N Y e 2 2 2 N
BSaatitiicicic :
N T2 2T ol £ PiltEXH = s
iy - |
= ‘ g%
55 L =300 =300 615 o2 \1 -
L2 (Lead wire length) (Lead wire length) % £ 415 L 671 )2
Manual override o 525 75 %
(Non-locking) 3 555 =
n: Stations
g 2 | 3 | 4| 5|6 | 7| 8] 910 Formula
L1 43 | 59 | 75 | 91 [ 107 | 1283|139 [ 155|171 | Li=16n+ 11
L2 54 | 70 | 86 |102 | 118 | 134 | 150 | 166 | 182 | L= 16n + 22
Common exhaust: VV3Z2-30
(G) (L) (M) (D)
o
2 g
. 5
n-M5 x 0.8 195 Y oy g 93] g 7R}
P=16,19 2-943 ~ [14§ £ € 2 149 S =85
25/ mounting hole |85 > ‘ T S 25 g, , *
S o Hllag® el [ l@g a
BT @ 7] @ w03~ 2 o
tJ——e N VL‘@V%F@V i ‘ 3 % T 1 2 uﬂ %wrm K=y e g W Sle
Q g |g @ |@ g 3 = 2 N o2& <= . |5
IS EyrS (S SN = = b S g = | To a2y
| < - 4-Rc% s ® [
W s Ll € sz [ dees
o) =31 | IE: N = n -M5Xx0..
55 Ls =30 63 o5 (1]
[ (Lead wire length) 15 £ 2-M5 x 0.8 68.5 o
- (Pilot EXH) as— S— <
= =
n: Stations
ol 2 [ 3] a5 ]e6[7][8]9]10 Formula
L4 43 | 59 | 75 91107 | 123|139 | 155|171 | Li=16n+ 11
L2 54 | 70 | 86 | 102 | 118 | 134 | 150 | 166 | 182 | L>=16n + 22

4-15-8




Dimensions: Common Exhaust

Metal Seal, Body Ported/Base Mounted Series

3 Port Solenoid Valve

VZ200

Individual: VV3Z2-50

(G) (L) (M) (D)
With light/surge voltage suppressor
With light/surge voltage suppressor = 80 2
Vanual . =300 (Lead wire length) 2M5X 08 126 ] g
anual override _ Pilot EXH pR—
(Non-locking) Pz 2M5x08 ZMBX08 o l}ﬂ‘;‘ﬂf '
- Pilot EXH Pilot EXH @ (ﬁﬂ’(‘)’:i&oﬁ
2-g4.3 mounting hole I’
w j 8 o 3 R
~ 5 L‘%@H EARS o o.2f ® With liht £
e B Bl B g ol ! It =
o alils o 5 el jiEy | | 00
N L@J‘lr\\{‘\f@ L N, o + Gl —
T 4-Re Y 4-Rclé 8-15&5 4-Rc 1/8 SY
85 L 85 47 I
s 185 —
88 a8 13 84 SYJ
[ . 0
mﬁ [ L1l JL\ 1 ﬁ ~ VK
| [FRRFRT o S
X S|’
__l_ 4 n-Re %4M5X 0.8 i VZ
L4 n: Stations
g 2 | 3/ 4|5 |6 | 7|89 ]10 Formula VT
L 44 | 61 | 78 | 95[ 112|129 146|163 | 180 | Li=17n+10 L
L | 61 | 78 | 95 [ 112|129 | 146 | 163 | 180 | 197 | L=17n + 27 VP
Common exhaust: VV3Z2-50 (Built-in One-touch fittings manifold) —
(G) (L) (M) (D) VG
With light/surge voltage suppressor
With light/surge voltage suppressor e VP
82.5 é —
= 300 (Lead wire length) o8 74.9 = 8070
Prigzas b s’i\ﬁe | overrid 2M5X 08 2:M5x08 ‘ i
anual override - 1 — —
[ . {Non-locking) T éﬁ 7 - ﬂ
2454.3 mounting hole 7| Ay =300 | Em Wilight 8 vVQ
| = | ml“ (Lead wire length) IEI Hglqoo surge voltage | L
g [ PR i N o - € =1 ) suppressor
Tertef P } I , —A|| |VKF
o | | & . 4 -| E—
2l o Ll % 4-Rels \HRels 2208 4-Re 1/8
R side s | VQzZ
495 L
i IC; 69.5
non o l‘_A%
N
1 = L !-iﬁ . <) n: Stations
— > <t ——————
By | PPPPY |8 o= 2 [ 3] 4] 5] 6] 7] 8] 9 10] Fomua
“IZE L | 43 | 59 | 75 | 91[107 123|139 | 155|171 Li=16n+11 VFN
L. | 65 | 81 | 97 | 113|129 | 145|161 | 177 | 193 | L==16n+ 33

Common exhaust: VV3Z2-S50 (Built-in One-touch fittings manifold)

L2
Lt "
|
o[ P[ [
4| | e St
MSLECIELEL VT

| A= -

o)
N

71
50
foas

2-94.3 mounting hole

(@)

4-Rolb

(L)

With light/surge voltage suppressor

(M)

With light/surge voltage suppressor

(D)

With light/surge voltage suppressor

Manqal == £ \ wan} —
o’\\‘/err:dek_ 245 |P=16 =30 = =fg %ﬂ o 749 =
(Non-locking) (Lead wire length) (Lead wire \eEgth).— 6;‘_ 5'5 § @ ‘i 632'5—' 825 ,§>§
iooh bh o8 3 635
F
© ﬁ ] F
9 d A A A A A 3
o r PO n: Stations
[25 o 2 [ 3] a]5[6[7]8]9]10 Formula
L. 43 | 59 | 75 911107 | 1283|139 | 155|171 | Li=16n+ 11
L2 65 | 81 97 [ 113|129 | 145|161 | 177 | 193 | L2=16n + 33
4-15-9

O
:



	VV3Z2: Manifold Base
	Dimensions



